[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

L
S|
i il WA AR RARAE B

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
Efficiend —— pom_v0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

NI O
$0.09
[
>0.08
>
2
50.07
o
£0.06
[}
0.05
0.04
0.03
0.02 : ,
] S :--#

S S DU DU B | B T

g .F : 5 : : :

@2 H} N T
FI) S il hﬁl RS- P
-30 20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

00 it igoi i

AANENENENNANN AN RENNNRANENRNAN]

Ratio

Sim. PV z (cm)



	Contents
	Page 1


